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Cuadro 16 (continuación 6)/Table 16 (continued 6)
Panamá: tablas abreviadas de mortalidada

Panama: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.019 0.019  100 000  1 859  98 511 0.980 b 7 386 014 73.9
1 4 0.001 0.005  98 141   473  391 339 0.996 c 7 287 503 74.3
5 5 0.000 0.002  97 668   206  487 822 0.998 6 896 164 70.6

10 5 0.001 0.003  97 461   252  486 677 0.995 6 408 342 65.8
15 5 0.002 0.008  97 209   729  484 224 0.989 5 921 665 60.9
20 5 0.003 0.014  96 480  1 305  479 138 0.986 5 437 441 56.4
25 5 0.003 0.015  95 175  1 449  472 252 0.985 4 958 302 52.1
30 5 0.003 0.014  93 726  1 319  465 331 0.986 4 486 051 47.9
35 5 0.003 0.014  92 407  1 253  458 902 0.986 4 020 720 43.5
40 5 0.003 0.015  91 154  1 409  452 248 0.982 3 561 817 39.1
45 5 0.004 0.020  89 745  1 837  444 135 0.975 3 109 569 34.6
50 5 0.006 0.029  87 909  2 573  433 110 0.964 2 665 434 30.3
55 5 0.009 0.043  85 336  3 673  417 496 0.947 2 232 324 26.2
60 5 0.013 0.064  81 663  5 199  395 316 0.922 1 814 829 22.2
65 5 0.020 0.094  76 464  7 183  364 361 0.885 1 419 513 18.6
70 5 0.029 0.137  69 281  9 525  322 592 0.834 1 055 152 15.2
75 5 0.044 0.199  59 756  11 866  269 115 0.765  732 560 12.3
80 5 0.065 0.281  47 890  13 472  205 770 0.674  463 445 9.7
85 5 0.096 0.388  34 418  13 346  138 725 0.564  257 675 7.5
90 5 0.141 0.515  21 072  10 853  78 226 0.440  118 950 5.6
95 5 0.204 0.654  10 219  6 682  34 388 0.156 d  40 724 4.0

100 ω 0.558 1.000  3 537  3 537  6 337  6 337 1.8
Mujeres/Females

0 1 0.013 0.013  100 000  1 326  98 936 0.985 b 7 987 397 79.9
1 4 0.001 0.005  98 674   487  393 369 0.997 c 7 888 460 79.9
5 5 0.000 0.001  98 187   138  490 589 0.999 7 495 091 76.3

10 5 0.000 0.002  98 049   151  489 865 0.998 7 004 502 71.4
15 5 0.001 0.003  97 897   245  488 874 0.997 6 514 637 66.5
20 5 0.001 0.004  97 652   349  487 388 0.996 6 025 763 61.7
25 5 0.001 0.005  97 303   447  485 400 0.995 5 538 375 56.9
30 5 0.001 0.006  96 857   546  482 919 0.994 5 052 974 52.2
35 5 0.001 0.007  96 311   671  479 876 0.992 4 570 055 47.5
40 5 0.002 0.009  95 640   857  476 056 0.989 4 090 179 42.8
45 5 0.002 0.012  94 783  1 151  471 036 0.985 3 614 123 38.1
50 5 0.004 0.017  93 632  1 628  464 087 0.978 3 143 087 33.6
55 5 0.005 0.026  92 003  2 392  454 038 0.967 2 679 000 29.1
60 5 0.008 0.040  89 612  3 580  439 109 0.949 2 224 962 24.8
65 5 0.013 0.062  86 032  5 365  416 748 0.921 1 785 853 20.8
70 5 0.020 0.098  80 667  7 881  383 634 0.877 1 369 105 17.0
75 5 0.033 0.152  72 786  11 070  336 256 0.811  985 471 13.5
80 5 0.052 0.233  61 716  14 362  272 674 0.718  649 215 10.5
85 5 0.083 0.345  47 354  16 359  195 871 0.597  376 541 8.0
90 5 0.131 0.490  30 995  15 177  117 030 0.455  180 670 5.8
95 5 0.203 0.653  15 817  10 323  53 278 0.163 d  63 641 4.0

100 ω 0.530 1.000  5 494  5 494  10 363  10 363 1.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


